Szczegot A (konfiguracja W1)
- wersja bez katownika Kt1

2 x I1SO 4016 - M8x30-8.8
2 x ISO 4034 - M8 - 8
2 x ISO 7091 - 8 - 18

2 x ISO 71046 - M6x25-8.8
2 x ISO 4034 - M6 - 6
2 x ISO 7091 - 6 - 14

6 x ISO 4016 - M8x30-8.8
6 x ISO 4034 - M8 - 8
6 x ISO 7091 - 8 - 18

L x ISO 4016 - M8x30-8.8

L x ISO 4034 - M8 - 8
L x ISO 7091 - 8 - 18

Pp1

1 x ISO 4016 - M16x45-8.8
1 x 1SO 4034 - M16 - 16

1 x ISO 7091 - 16 - 40

Ppp

K1

S2

Wykonat: dr inz. Jacek Abramczyk ZPAIGI
WBISIiA PRz pazdziernik 2018r

Pp2

T1a

Pd1

L x ISO 4016 - M12x30-8.8
L x ISO 4034 - M12 - 12
L x ISO 7091 - 12 - 26

Rysunek 53




